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PART A

Answer any six quesuons from the following. Each quesron caries 1 mark.

1 What is lhe rnain objeciive oi PQAFDB ?

2 What is Consurne rs' Co-operal ves ?

3. Bretly expair Horseied'

4 Expla n the rna n iunction ol KeEa State Coop€ralve Bank.

5. Describe Urban Co-operalve Banks'

6 Exp ain lhe ro e ol Fubber N4arketing Co operatives in Kera a

7 Make a nole on -NIABKETFEO'

8. Whal s Farm Loans ? (6x1=6)

DdPT B

Answer any six questio.s from the fotLowing Each queslon carries 3 marks

9. Expain lhe man llnclions of SIate Co-operalve Ag.icuilral and Flural

10.

11.

Developments Banks.

lr,4ake a briel noie on Kera a Slate Co operat ve Hous ng Federation '

Explain the management strlcture oI NAFED

Brieiry explain the rnair objectives ol Con Co operative Soc eties'
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13 The lonq lerm credt structure ol SCAFDB is very cornplex in ls naiure".
Exoain.

14 Brieiy expla n the role and lunctons of Urban Co operallve Banks in Keraa.

15. The lunclions ol Districl Co-operative Ba.ks are not etiective. Why ?

1€ What do you mean by Rura Debenlures t Expain ls needs. (6x3=18)

PAFT C

Answer any two questions jrcm the fol ow ng Each quesllon caries I marks

17. [,]lk l4arketing Cooperatve Soci€l]es rnade a sgnficant roe nthe
deveoprnenl liv ng slandard ol peop e ln r!raland backward areas oi Kerata".
Justily the slarement

l8. "NaiionaLAgr cu tura Co-ope rativ€ Nrarketing Federal on oi lndla is lhe nat onal
organization to promote Co-operalive markel ng n lndia lor the benefit of
larmers . Juslly ihe statement by explain ng lhe objecllves and lunclons oi
NAFED

l9. "P rimary Agricu tura Credil Sociel es are cons dered as the prornotional lool ior
ihe rlral agriculture in Keraa Jusliiy ihe stalement. (2x8=r6)


